
 
𝐈𝐧 𝒂𝐧𝐲 ∆ 𝐀𝐁𝐂, 𝐭𝐡𝐞 𝐟𝐨𝒍𝒍𝐨𝐰𝐢𝐧𝐠 𝐫𝐞𝒍𝒂𝐭𝐢𝐨𝐧𝐬𝐡𝐢𝐩 𝐡𝐨𝒍𝐝𝐬 ∶ 

𝐦𝐛 + 𝐦𝐜 ≥ √𝐡𝒂
𝟐 +

𝟗𝒂𝟐

𝟒
 

  Proposed by Bogdan Fuștei-Romania 

Solution 1 by Eric Cismaru-Romania 

 

Let 𝑮 be the centroid of triangle 𝚫𝑨𝑩𝑪 and let 𝑴, 𝑵, 𝑷 be the midpoints of sides 

𝑨𝑪, 𝑩𝑪, 𝑨𝑩. Construct 𝑮𝑮′ ⊥ 𝑩𝑪 and 𝑨𝑨′ ⊥ 𝑩𝑪. 

Because 𝑨𝑨′ ∥ 𝑮𝑮′ ⇔ 𝚫𝑮𝑮′𝑷 ∼ 𝚫𝑨𝑨′𝑷 ⇒ 𝑮𝑮′ =
𝒉𝒂

𝟑
.  

Let’s apply Pythagoras Theorem in triangles 𝚫𝑩𝑮𝑮′ and 𝚫𝑮𝑮′𝑪. 

We obtain that 𝑮𝑩𝟐 =
𝟒𝒎𝒃

𝟐

𝟗
=

𝒉𝒂
𝟐

𝟗
+ 𝑩𝑮′𝟐 and 𝑮𝑪𝟐 =

𝟒𝒎𝒄
𝟐

𝟗
=

𝒉𝒂
𝟐

𝟗
+ 𝑪𝑮′𝟐 and by taking the 

square root and adding we’ll have  

𝟐

𝟑
(𝒎𝒃 + 𝒎𝒄) = √

𝒉𝒂
𝟐

𝟗
+ 𝑩𝑮′𝟐 + √

𝒉𝒂
𝟐

𝟗
+ 𝑩𝑮′𝟐 = √(

𝒉𝒂

𝟑
)

𝟐

+ 𝑩𝑮′𝟐 + √(
𝒉𝒂

𝟑
)

𝟐

+ 𝑪𝑮′𝟐 

Using Minkowski’s Inequality,  

𝟐

𝟑
(𝒎𝒃 + 𝒎𝒄) ≥ √(

𝟐𝒉𝒂

𝟑
)

𝟐

+ (𝑩𝑮′ + 𝑪𝑮′)𝟐 = √
𝟒𝒉𝒂

𝟐

𝟗
+ 𝒂𝟐, 

which is equivalent to 𝒎𝒃 + 𝒎𝒄 ≥ √𝒉𝒂
𝟐 +

𝟗𝒂𝟐

𝟒
. 

Equality holds when 𝑩𝑮′ = 𝑪𝑮′ or when 𝑮′ is the midpoint of 𝑩𝑪, meaning that  

𝑮′ = 𝑵 ⇔ 𝑨𝑵 ⊥ 𝑩𝑪 ⇔ 𝑨𝑩 = 𝑨𝑪 

 

 



 
Solution 2 by Soumava Chakraborty-Kolkata-India 

 

𝐦𝐛
𝟐 + 𝐦𝐜

𝟐 =
𝟐𝐜𝟐 + 𝟐𝒂𝟐 − 𝐛𝟐 + 𝟐𝒂𝟐 + 𝟐𝐛𝟐 − 𝐜𝟐

𝟒
=

𝟏

𝟒
∑ 𝒂𝟐

𝐜𝐲𝐜

+
𝟑𝒂𝟐

𝟒
 

⇒
𝟗𝒂𝟐

𝟒
= 𝟑(𝐦𝐛

𝟐 + 𝐦𝐜
𝟐) −

𝟑

𝟒
∑ 𝒂𝟐

𝐜𝐲𝐜

= 𝟑(𝐦𝐛
𝟐 + 𝐦𝐜

𝟐) − ∑ 𝐦𝒂
𝟐

𝐜𝐲𝐜

 

⇒
𝟗𝒂𝟐

𝟒
= 𝟐(𝐦𝐛

𝟐 + 𝐦𝐜
𝟐) − 𝐦𝒂

𝟐 → (𝟏) 

∴ 𝐦𝐛 + 𝐦𝐜 ≥ √𝐡𝒂
𝟐 +

𝟗𝒂𝟐

𝟒
⇔

𝐯𝐢𝒂 (𝟏)

𝐦𝐛
𝟐 + 𝐦𝐜

𝟐 + 𝟐𝐦𝐛𝐦𝐜 ≥ 𝐡𝒂
𝟐 + 𝟐(𝐦𝐛

𝟐 + 𝐦𝐜
𝟐) − 𝐦𝒂

𝟐 

⇔ 𝐦𝒂
𝟐 − 𝐡𝒂

𝟐 ≥
(∗)

(𝐦𝐛 − 𝐦𝐜)𝟐  

𝐍𝐨𝐰, 𝐦𝒂
𝟐 − 𝐡𝒂

𝟐 = 𝐬(𝐬 − 𝒂) +
(𝐛 − 𝐜)𝟐

𝟒
−

𝟒𝐬(𝐬 − 𝒂)(𝐬 − 𝐛)(𝐬 − 𝐜)

𝒂𝟐
 

= 𝐬(𝐬 − 𝒂) +
(𝐛 − 𝐜)𝟐

𝟒
−

𝐬(𝐬 − 𝒂)(𝒂𝟐 − (𝐛 − 𝐜)𝟐)

𝒂𝟐
=

(𝐛 − 𝐜)𝟐

𝟒
+

𝐬(𝐬 − 𝒂)(𝐛 − 𝐜)𝟐

𝒂𝟐
 

=
(𝐛 − 𝐜)𝟐

𝟒𝒂𝟐
(𝒂𝟐 + 𝟒𝐬𝟐 − 𝟒𝐬𝒂) =

(𝐛 − 𝐜)𝟐(𝟐𝐬 − 𝒂)𝟐

𝟒𝒂𝟐
=

(𝐛 − 𝐜)𝟐(𝐛 + 𝐜)𝟐

𝟒𝒂𝟐
 

⇒ 𝐦𝒂
𝟐 − 𝐡𝒂

𝟐 =
(𝐛𝟐 − 𝐜𝟐)

𝟐

𝟒𝒂𝟐
→ (𝟐) ∴ 𝐯𝐢𝒂 (𝟐), (∗) ⇔

(𝐛𝟐 − 𝐜𝟐)
𝟐

𝟒𝒂𝟐
≥

(∗∗)

(𝐦𝐛 − 𝐦𝐜)𝟐  

𝐀𝐠𝒂𝐢𝐧, (𝐦𝐛
𝟐 − 𝐦𝐜

𝟐)
𝟐

≥
? 𝟗𝐦𝒂

𝟐

𝟒
(𝐛 − 𝐜)𝟐 

⇔ (
(𝟐𝐜𝟐 + 𝟐𝒂𝟐 − 𝐛𝟐) − (𝟐𝒂𝟐 + 𝟐𝐛𝟐 − 𝐜𝟐)

𝟒
)

𝟐

≥
? 𝟗(𝟐𝐛𝟐 + 𝟐𝐜𝟐 − 𝒂𝟐)

𝟏𝟔
(𝐛 − 𝐜)𝟐 

⇔ 𝟗(𝐛𝟐 − 𝐜𝟐)
𝟐

≥
?

𝟗(𝟐𝐛𝟐 + 𝟐𝐜𝟐 − 𝒂𝟐)(𝐛 − 𝐜)𝟐 

⇔ (𝐛 − 𝐜)𝟐 ((𝐛 + 𝐜)𝟐 − ((𝐛 + 𝐜)𝟐 + (𝐛 − 𝐜)𝟐 − 𝒂𝟐)) ≥
?

𝟎 

⇔ (𝐛 − 𝐜)𝟐(𝒂𝟐 − (𝐛 − 𝐜)𝟐) ≥
?

𝟎 ⇔ (𝐛 − 𝐜)𝟐. 𝟒(𝐬 − 𝐛)(𝐬 − 𝐜) ≥
?

𝟎 → 𝐭𝐫𝐮𝐞 

∴ (𝐦𝐛
𝟐 − 𝐦𝐜

𝟐)
𝟐

≥
𝟗𝐦𝒂

𝟐

𝟒
(𝐛 − 𝐜)𝟐 → (𝟑) 

𝐈𝐦𝐩𝐥𝐞𝐦𝐞𝐧𝐭𝐢𝐧𝐠 (𝟑) 𝐨𝐧 𝒂 𝐭𝐫𝐢𝒂𝐧𝐠𝐥𝐞 𝐰𝐢𝐭𝐡 𝐬𝐢𝐝𝐞𝐬 
𝟐𝐦𝒂

𝟑
,
𝟐𝐦𝐛

𝟑
,
𝟐𝐦𝐜

𝟑
 𝐰𝐡𝐨𝐬𝐞 𝐦𝐞𝐝𝐢𝒂𝐧𝐬 𝒂𝐬 

𝒂 𝐜𝐨𝐧𝐬𝐞𝐪𝐮𝐞𝐧𝐜𝐞 𝐨𝐟 𝐞𝒍𝐞𝐦𝐞𝐧𝐭𝒂𝐫𝐲 𝐜𝒂𝒍𝐜𝐮𝒍𝒂𝐭𝐢𝐨𝐧𝐬 =
𝒂

𝟐
,
𝐛

𝟐
,
𝐜

𝟐
 𝐫𝐞𝐬𝐩𝐞𝐜𝐭𝐢𝐯𝐞𝒍𝐲, 𝐰𝐞 𝒂𝐫𝐫𝐢𝐯𝐞 𝒂𝐭 ∶ 

(
𝟏

𝟒
(𝐛𝟐 − 𝐜𝟐))

𝟐

≥
𝟗.

𝒂𝟐

𝟒

𝟒
. (

𝟐

𝟑
(𝐦𝐛 − 𝐦𝐜))

𝟐

⇒
(𝐛𝟐 − 𝐜𝟐)

𝟐

𝟒𝒂𝟐
≥ (𝐦𝐛 − 𝐦𝐜)𝟐 

⇒ (∗∗) ⇒ (∗) 𝐢𝐬 𝐭𝐫𝐮𝐞 ∴ 𝐦𝐛 + 𝐦𝐜 ≥ √𝐡𝒂
𝟐 +

𝟗𝒂𝟐

𝟒
 ∀ ∆ 𝐀𝐁𝐂,′′ =′′  𝐢𝐟𝐟 𝐛 = 𝐜 (𝐐𝐄𝐃) 

 

 



 
Solution 3 by Mohamed Amine Ben Ajiba-Tanger-Morocco 

𝐈𝐧 𝐚𝐧𝐲 ∆𝑨𝑩𝑪, 𝐰𝐞 𝐡𝐚𝐯𝐞 

𝒉𝒂 =
√𝒔(𝒔 − 𝒂). 𝟐√(𝒔 − 𝒃)(𝒔 − 𝒄)

𝒂
 ≤⏞
𝑨𝑴−𝑮𝑴 √𝒔(𝒔 − 𝒂). ((𝒔 − 𝒃) + (𝒔 − 𝒄))

𝒂
=

√(𝒃 + 𝒄)𝟐 − 𝒂𝟐

𝟐

⇒ 𝒃 + 𝒄 ≥ √𝟒𝒉𝒂
𝟐 + 𝒂𝟐. 

𝐔𝐬𝐢𝐧𝐠 𝐭𝐡𝐢𝐬 𝐢𝐧𝐞𝐪𝐮𝐚𝐥𝐢𝐭𝐲 𝐭𝐨 𝐭𝐡𝐞 𝐭𝐫𝐢𝐚𝐧𝐠𝐥𝐞 𝐆𝐁𝐂, 𝐰𝐡𝐞𝐫𝐞 𝐆 𝐢𝐬 𝐭𝐡𝐞 𝐜𝐞𝐧𝐭𝐫𝐨𝐢𝐝 𝐨𝐟 𝐭𝐡𝐞 𝐭𝐫𝐢𝐚𝐧𝐠𝐥𝐞 𝐀𝐁𝐂,  
𝐰𝐞 𝐨𝐛𝐭𝐚𝐢𝐧 

𝑮𝑩 + 𝑮𝑪 ≥ √𝟒𝒉𝑮
𝟐 + 𝑩𝑪𝟐, 

𝐰𝐡𝐞𝐫𝐞 𝒉𝑮 𝐢𝐬 𝐭𝐡𝐞 𝐚𝐥𝐭𝐢𝐭𝐮𝐝𝐞 𝐟𝐫𝐨𝐦 𝑮.  𝐒𝐢𝐧𝐜𝐞 𝐭𝐡𝐞 𝐚𝐫𝐞𝐚 𝐨𝐟 ∆𝐆𝐁𝐂 𝐢𝐬 𝐞𝐪𝐮𝐚𝐥 𝐭𝐨 
𝐅

𝟑
, 𝐭𝐡𝐞𝐧 𝐰𝐞 𝐡𝐚𝐯𝐞 

 𝒉𝑮 =
𝒉𝒂

𝟑
. 

𝐀𝐥𝐬𝐨, 𝐰𝐞 𝐡𝐚𝐯𝐞 𝑮𝑩 =
𝟐𝒎𝒃

𝟑
, 𝑮𝑪 =

𝟐𝒎𝒄

𝟑
, 𝐭𝐡𝐞𝐧 𝐰𝐞 𝐠𝐞𝐭 

𝒎𝒃 + 𝒎𝒄 ≥ √𝒉𝒂
𝟐 +

𝟗𝒂𝟐

𝟒
. 

𝐄𝐪𝐮𝐚𝐥𝐢𝐭𝐲 𝐡𝐨𝐥𝐝𝐬 𝐢𝐟𝐟 𝒃 = 𝒄. 
 


